Алгоритм   вычитания чисел.

Вычитание


a – b                       - a – (- b)         a – (- b)               - a -b 



a + (-b)                   - a + b                  a + b                   - a + (- b)                


                                           
Сложить по правилу                         Сложить по правилу
сложения чисел                                   сложения чисел
с разными знаками                            с одинаковыми знаками
7 – 9 = 7 + (- 9) = - 2                                7 – (- 9) = 7 + 9 = 16                  

-7 – (-9) = - 7 + 9 = 2                                - 7 – 9 = - 7 + (- 9) = - 16
